
07

CAUTION: DO NOT EXCEED

MAXIMUM LISTED WEIGHT

CAPACITY.SERIOUS INJURY

OR PROPERTY DAMAGE MAY

OCCUR! 
Power Input
100V-240V

Speed
20 mm/s

Load Capability
154 lbs / 70 kg

Motion Noise
＜55dB

RATED

Adjust the desk upwards

Adjust the desk downwards

Height Preset 1

Height Preset 2

Height Preset 3

Press       for 5 seconds, the display will show 'RES' keep pressing the key until the legs move down to 
the lowest position.

To set Height Preset, press the S button until the LED Display flashes then press Preset 1, 2, 3 to 
program preset.S

1

3

2

Reset

Protection mode (auto lock screen mode)

Control Panel Keys

Over-heatingHot

E10

E20

E02

E32

E31

E60

protection
Detection

alarm

Overload
protection

Rebound
protection

Overvoltage
alarm

Undervoltage
alarm

Step out 
alarm

Breaking
protection

Alarms when continuously in motion for 2 minutes.
Power back on and wait for at least 18 minutes before adjusting height again. 

Alarms when motor sensor cannot be detected.
Turn off power, check the connection of motor and control box, and then power back on. 

If alarm sounds when the desk is moving up, remove loads off the desk and try again.

Alarms when vibrated, collided or inclined during height adjustment. Check if there is anything
in the way of desk motion. Then proceed to the reset the motor.

If it alarms when desk is moving down, turn off the power, remove loads off the desk and re-try.

It alarms when voltage is higher than anticipated value. Turn the power off, check the connection 
between power and control box. If no problem, power it back on.  

It alarms when voltage is lower than required value. Turn the power off, check the connection 
between power and control box. If no problem, power it back on.  

It alarms when height difference between left leg and right leg exceeds the set value.
Power off first. Check whether the left leg and the right leg are in the same height. If not, re-do
Installation Step 3 to make them same height. Power it back on.
It stops and enters protection state when motor cables or manual control cables are removed 
or disconnected accidentally; goes back to normal after it’s reconnected and alarm is cleared. 

Engineering Mode

Change Displayed
Unit ( )

Change
Brightness (br)

Collision Force
Detection (CF)

Long press the       button, “S--”shows and flashes. Press   again and the display shows “Un”.  

shows “Un”. 

“OFF”, Low (L), Normal (n) or Heavy (H) collision force detection.

S S

Press       to save your choice.S

Low (L), Normal (n) or High (H) brightness. Press       to save your choice.S

Long press the      button, “S--”shows and flashes. Press   again and the displayS S

shows “Un”. Long press the      button, “S--”shows and flashes. Press   again and the displayS S

Press        to save your choice.S

Press      or      to switch to “CF”. Press      to select. Press      or      to switch between S

Press      or       to switch to  “br”. Press      to select. Press      or      to switch between S

Press      to select. Press or      to switch between“     ”(metric) or “      ” (imperial). S

● Length Adjustment Range: 95-135cm
● Height Adjustment Range: 72-118cm
● 3-Level Height Memory Function

TM51 BK

TM51 WE



0601

Step 7

Step 8
Cable Clip (x2)G

2

1

1
C

D2

1

2

M5×16mm(x10)C

M3.5×19mm(x2)D

Power

With another person, install a 
tabletop (Not Included) & Control Panel.

Connect the Control Panel to Right Lifting 
Column motor cable and Power Adapter cable.

2

GUSB&
Type-c

1



0205

Step 5

Step 6

Left Lifting Column

Right Lifting Column

Leg Base

Transmission Rod
Rubber Pad

K
E

E S=2mm

1

2

3

4

Rubber Pad(x10)H

H

Allen Key S=2mm

Allen Key S=5mm

Cable ClipG

H

Spare Parts

Rubber Pad (x2)

M6×11mm (x2)

M3.5×19mm (x1)

M6×35mmScrews 

Hardware List

M6×11mmScrews 

M5×16mmScrews 

M3.5×19mmScrews 

M6×35mm (x1)

M5×16mm (x2)

Side Plate

Crossbar 1pc 8pcs

12pcs

2pcs

10.

10pcs

10pcs

2pcs

1pc

1pc

1pc

1pc

2pcs

1pc

1pc

1pc

2pcs

1pc

1pc

Left Crossbar

Right Crossbar

Control Panel

Power Adapter

CONTENTS



0403

Step 1

Step 2

Step 3

Step 4

Insert the Crossbar ① into Left Crossbar & 
Right Crossbar and tighten with screws.

Attach Left Crossbar and Right Crossbar to 
the Lifting Columns

S=5mm

M6×11mm(x4)B

F

B

S=5mm

S=5mm

M6×11mm(x4)B

F S=5mm

M6×11mm(x4)B

F
B

S=5mm

S=5mm

M6×35mm(x8)A

F

A

S=5mm

B

S=5mm

Attach Side Plates to the Lifting Columns

Attach Leg Bases to the Lifting Columns


